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For instance when he lowered — 779apY "an unk 170 dwhww JIAD
his hand below three 2°15v from the ground and he received it.

OVERVIEW
172X "1 answered that the 71wn is discussing a case where the item was received (for
the 7m377) within three o°ndv from the ground. At that point we consider the hand as
if it is resting on the ground, and therefore there is a 7m37 on a '7 2PH. Our MBOIN
qualifies this answer that it is valid only if we maintain 738 7w 7> 7a8.!

— TN NIV T TINT ¥DAN 229 9209
And it is necessary to assume that 3728 %29 - who limits the 71wn to a situation
where the receiver’s hand is below three 0’150 — maintains that the binding of

the hand to the body is considered binding, meaning that even when one’s hand is
below three o°mov and it is therefore considered as if it is actually on the ground (and a '7 opn),
however if the person’s body is in a different Mm@ from his hand, we do not consider that
person’s hand totally at rest in the mw" where the hand is, rather we say that the hand is attached

to the body and is drawn to the mwA of the body.

mooin explains how he arrived at this conclusion:

— 21219 %)Y VYT NYIN INI 1IN NPIY "N NI INT
For if we were to say that 172X °27 does not consider the hand to be bound to the
body, but rather we view it as being totally at rest in the mwa where it is, there
would be a difficulty; why did the 71wn teach us that only when the >1v took the

object from the hand of the 2"7v1 in the "7, and withdrew it to the 7", only then is the 1
2»n? If we maintain that 73R 77w R? 7 7R, it is not necessary for the *1v to take the object from
the s'2"77v2 hand to be 2»n, for -

— NIINWD 2PN 2N XN NN N*AN HYa 1N 1D9aN
Even if the 2'"7w2 put the object into the s"1¥ hand, the »1» should also be 231
when he withdraws his hand from the >"71 to the 7"

! There is a npY2nn in (X,2% — 2,8X A7) ¥°1¥n7 P19 concerning the concept of 738, which means bound or tied. What
concerns us is the concept of 7 7aX. In a case where the hand and the body are in two different N7 and, more
specifically, the hand is 'a» nun? in its exclusive mwA; do we say that 73R 7°nw 7> 73R, that the hand is bound and
drawn to the body, and therefore, notwithstanding that it is '3 702, it is not considered at rest in that nwA, or do we
say TAR 7MW X2 70 73R, that in this case, the hand is not considered bound to the body, but rather we consider it totally
at rest in the N where it is "\ 7un5.

2 See ‘Thinking it over’ # 5.
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moon responds to the anticipated question: The *1v seemingly did not make an 77°py from the 7
2"7v3, rather the 2"y placed the object into the *1v7 7°; there is no 77°pY? N1BOIN explains:

— 732 NVNY MINT 9193 Y9999 %Y 197 %5

Since the situation is that the s'1¥ hand is also below 2150 '3 from the ground.
nMooIN explains that we assume that 1971 7> is '\ nwonh —

— THN 12393 299N 23Y 19 %3N Yy 1> NINONT

For it is to be assumed that the 2'"7v2 75 as well as the 1977 75 are in the same

position. To ascertain their positions, let us go back to the actual case of the mwn, where the *1v
1s 2711 for ARXIT -

— 33 NVNY 53 %Y 15 XN M DVNY DT HAN HYA YV 1T TINI HVI 95 KT

When the "1¥ removed the object from 2'"'77v3 75> which — the 2"17v2 7> — was below

o°nov 'a, for otherwise, if the 2"7va 7° would be 'sn 591> the *1v would not be 2°n

for nR¥17, because there was no '7 2pn "2x Pvn 77°PY; we can therefore assume that
the >1v 75 was obviously also below 2191 's -

— 251 XN 239N > TINY N30 P 11 IT59N NN SNN92)

and in such an instance where the (2"7v2 7) "1 7> is below 2’1oy '3, even if the

2'"7wa places the object into the %1 75 and the "1y withdraws the object to the 7"77,

the *1v will be 29717 if we hold 7R 7w X2 7 7, because by definition the *wn 7 will be
considered totally at rest in the *"77, and when he picks up his hand from 'an 7vn? it will be
considered an 77°py from its resting place in the >"77,* and when the *1y withdraws his hand from
the °"717 to the 71" he will be 21 for axx7. Therefore it is necessary to assume that 172X °29
maintains that 7aX 7w 7> 73X and when the hand and the body are in two different n1™MwA the
hand is not considered at rest in the N~ where it is. Now we understand that if the 2"7v2 placed
the object in the >"7772 °1977 7 even if it was '\ 7vnY, but since TaX 7MW 70 7aX, the "wn 7 is not at
rest in the "1, therefore when he withdraws his hand from the "7 there was no 77°py and the
"1y is 9. The only time that "3 7un? would be considered at rest is if 171 1 are in the same
mwA.

SUMMARY
72K °27 maintains that 738 7w 7 73X, For if he would hold a8 7nw X5, then the
X177 211 for the °1v would be, not only when the *1v was 29w the object from 7

3 it would be most unusual to say that the 2"7ya 7° was immediately below the o°nav '3 level and the " 7> which
removed it from 2"7v2 7 was immediately above the onov '3 level (especially since the miwn states 72101 H0IW N;
indicating that he took to item from within the hand of the 2"77¥3, which is '3 7un? [see 012X *19]). It is more natural
to assume that both their hands were below the 2 rpv '3 level

4 Compare to the *n7 W1Pm2 YO NPPYD 1D 7717PY K3 R4
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2"7v3, but even when the 2"17v2 placed the object *1vi 752 which is 2ndv ' 7vab.

THINKING IT OVER
1. Why is ms80n proof that 73X 71w 7> 728, only according to 172K 2277

2. Does 172K 27 maintain that we need a °"7772 '7 D3pn?

3. How do we reconcile the 7vw of 7a8 7°nw X7 7° 728 with the (X,3) X713 that states
1 X2 17

4. Is there any room for attempting to refute MooIN proof?®
5. Why did not mo0In prove his point’ from the case in the 7awn which states: vws

QOO DY NI 9N JNIW IR DY 1vn, and if TAR Rw XD 70 7R, then the 1w
should be 211.8

3 See the X3 and >"w later on X,2"¥ (immediately preceding the 71wn [and T NIX X,3 98X Nnman]).
6 See 1"2177 1 (and WX nn).

7 See footnote # 2.

8 See 7"'mn and R WK,
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